COMMON QUARTERLy EXAMINATION- 2023

: ~Standarg - 1x
Time : 3.00 hrs MATHEMATICS Marks: 102
l. Answer all the Questions:- 14x1=1
1) The set ={xx e z, -1<x<1} is a * gy, Subset
a) singleton set b) power set ¢) Null set i '
2) If A={x,y. 2} then the number of nogempty SuPse'® of Ais
J; & b) 5 "t g 6 s then the

' es!
3) In a class of 50 boys, 35 boys Play camom and 20 boys play ch
number of boys play both game jg e

a) s b) 30 5 d) 10°
4) For any three sets A, B and C(A‘-B)n(B-C) is equal to
a) Aonly © - b} Bonly
ey AT -8 o : c) Conly d) ¢
} Whid one of the following is an irrational number
a) /25 b) E ' RCE d) =
é) Find the odd oné out of the followirig | 7 -
R ; /77 : J54
- 3) J32x42 v c) V72xV8 9 /g
N 2Tt 2= o ‘
a3 -~ b5 €.5y3 = d) 3/5
8) W'hen- written with a rational denominator, the expression g_,/:;i can be simplified as
42 3 6 2
a) ¥ L P 9 3
9) Degree of the . polynomial (yY-2)(y*+1} is - 3
a) 9’ . b) 2 c) 3 d) 6
10) Zeros of (2-3x) is _____ . 5 3
11) Degree of the constant polynomial i¥ ___
a) 3 b) 2 . c)1- d) 0
12) If (2, 3) is a solution of linear equation 2x+3y=k 'then, ‘the value of k is
a) 12 . ‘b6 . c) 0 d) 13
13) If x-3'is a factor of p(x), then the rémainder is ‘
a) 3 b) -3 o @) -d) p(-3)

14) The exterior angle of a triangle is equal to the sum of two
a) Exterior angle b) ' Interior opposite angles

. c) Alternate angles d); Interior angles
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10 questions. Quesy

* &’:‘:‘!‘: :?'!"3' '2":' 4} and B0, 1-';'7'4;“31}1;8 's compulsory:. 10%2=20

1bl It Az{b. e f g} and B=(C. € 9. h) yhep vorﬁ:'l)ttzscor(r:?n BI;A .
of sets ' utative property of uniori
TN niA)=36, n(B)=10. n(ALfE)sdo ;::; T:')ng?' find n(U) ang —
18) Cut of 500 car owners ik [6: i 0 owned Car A and 200 owned Car g

50 cwned both A and B C=™: S tnis dlata correct? 5 ) e,

18) Convert the followng deciMal Numbers in the form of ==03
20) Faa 'he vaiue of (24317 9

21) S.npiy 5‘-3_--18\3—2.\3—

LY

24) Fao the vawe-of a and o if YoT2. 47
V7 2
23) Fuz v Jaee of e poiynomial fiyi= By—2y2+3 at y=—1

24) Fnd 1ne remainder when 3x-4x+7x-5 is divided by (x+3)

26V Famiirse G lkgrdy
264 Tre sigies of a triangle ae in the ratio 1:2:3, Find the measure of each angle

CI tng triangle. 2
27) In tre figure, AB is paraliel to CD, Find x.

B

N

AN
7

D

28) Reprasent the following number. in Scientific notation. (300000)*=(20000Y*.
. Answer any 10 questions. Question No.42 is compulsory:- 10x5=50
29) Iif A= [xxzz,—2<x<4), B?{XZXEW,@SS}. C={~4,-1,0,2, 3, 4} then verify
A (B~ C)=(ALB)~AC)
30? Venfy the De Morgan'§ law, for : plementation (AUB)=A~8 using venn diagrams.
31) In a,class, all students take.pargin either music or drama or both. 25 students
takz pant in Music, 30 studentsftake part in drama and 8 Students take pant
in oo music and drama. Fingt @ . - - .
- The “number of studety who take part in only music.
1) The number of studets who take part in only ‘drama
o The total number ofi,\tu'dents iy the class .
32) verly MA-BC) Zn(AVn(B)n(Gin(A~g) (BAC)-n(ANC)*NANBAC) -for the
ioang set A={135) B={2, 8}, C=(1.56.7)
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33) Sllmpnfy usmg addition and s"‘btfacrion ; — d
34) Find the decimal expansion of Properties of surds 375+5/48- 4243 |\
35) Arrange" surd in descending o,

Yr: ¥5,¥4.93 |

36) Rationalise thé” denominator and simplify V48 + :13:
27 -

37) IF (x+a)(xsb)(xecmx+14x2s50xe7gDfind the value of i) avbre i) Z+p+g

38) Factorise the following: 4):24-9y’+:zszi'w’12>€y+:‘|03t’7-+20"z ‘

39) Find the quotient and remainder when p(x)=(3x'-2X-5+7x) is divided by
d(x)=x+3 using synthetic division, ? N

40) Factorise the polynomial using gynthetic division x*-3x2—10x+24

41) Find all the three angles of the AABC '

(4x-15)"f

v

3

. . 7 |
42) If [Y"*}J =27 then find the ‘value t:af-‘Ys“y i 7

V. Answer the both questionsi- . S e , _ 2x8=16
. 43) a) Ifu={a, b, c;d,e,f g h} As{b, d,{ h} ahd_B=_{a,_d, e, h}find the follov:ihg sets.

i) A i) B i) AUB' iv) AAB' V) (AUB)  vi) (AnB)'
vil) (A - wii) (BY) 2 - T L

, v o
b) Represent the following numbe%rs in-the scientific riotation.
i) 569430000000 ii) 000.57
Write the following numbers ‘in' decimal form. i) 3.459x10%. i) 5.678x10%,
whose sides are PQ=8cm; QR=6cm; RP=7Tcm.

44) a) Construct the centroid of APOR
N 3 - fog |
b) Draw AABC, where AB=Bcm, ~B=110° and BC=5cm and construct its

orthocentre.

drirdvirivirirdy
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